ARLINGTON COUNTY, VIRGINIA

AGREEMENT NO. 18-156-ITB AMENDMENT NUMBER 01

This Amendment Number 01 is made on November 5, 2021 and amends Agreement Number 18-156-ITB ("Main Agreement") dated May 16, 2018 between AM-Liner East, Inc. ("Contractor") and the County Board of Arlington County, Virginia ("County").

The County and the Contractor agree to amend the Main Agreement as follows:

- 1. TEMPORARILY REPLACE ATTACHMENT D UNIT PRICE BID OF CONTRACTOR IN ITS ENTIRETY WITH THE ATTACHED TEMPORARY ATTACHMENT D UNIT PRICE BID OF CONTRACTOR THROUGH JUNE 30, 2022. ATTACHMENT D UNIT PRICE BID OF CONTRACTOR SHALL REVERT BACK TO THE ORIGINAL PRICING DATED MAY 16, 2018 ON JULY 1, 2022.
- 2. ADD THE FOLLOWING COVID-19 VACCINATION POLICY FOR CONTRACTORS CLAUSE AS CONTRACT CLAUSE 51:

Due to the ongoing COVID-19 pandemic, the County has taken various steps to protect the welfare, health, safety, and comfort of the workforce and public at large. As part of these steps, the County has implemented various requirements with respect to health and safety including policies with respect to social distancing, the use of face-coverings and vaccine mandates. To protect the County's workforce and the public at large, all employees and subcontractors of the Contractor who are assigned to this Contract, must be fully vaccinated against COVID-19. Any contractor employee or subcontractor who is not fully vaccinated should be following a weekly testing protocol as established by the Contractor, unless exempt pursuant to a valid reasonable accommodation under state or federal law.

ANALINIED EACT INC

All other terms and conditions of the Main Agreement remain in effect.

WITNESS these signatures:

THE COLINITY DOADD OF ADLINICTON

COUNTY, VIRGINIA	AIVI-LINER EAST, INC.
AUTHORIZED: Laylin Struber SIGNATURE: 2513E5502A3A4DE	AUTHORIZED: SIGNATURE: Docusigned by: MU Willett BD82C9FDBC0D4E9
NAME: Kaylin Schreiber	Mel Willett NAME:

Procurement Officer TITLE:	TITLE: VP
DATE:	DATE: 11/5/2021

Item						Items Unit Cost Through
No.		Unit	Quantity	Unit BID	BID Extended	June 30, 2022
	8" Sanitary Sewer Television Inspection and					
SS-1	Medium/Heavy Cleaning	LF	50,000	\$2.50	\$125,000.00	\$ 2.61
	10" Sanitary Sewer Television Inspection and				· · · · ·	
SS-2	Medium/Heavy Cleaning	LF	2,000	\$4.25	\$8,500.00	\$ 4.43
	12" Sanitary Sewer Television Inspection and					
SS-3	Medium/Heavy Cleaning	LF	1,000	\$4.50	\$4,500.00	\$ 4.69
	15" Sanitary Sewer Television Inspection and					
SS-4	Medium/Heavy Cleaning	LF	1,000	\$5.00	\$5,000.00	\$ 5.21
	18" Sanitary Sewer Television Inspection and					
SS-5	Medium/Heavy Cleaning	LF	1,500	\$5.75	\$8,625.00	\$ 5.99
	20"Sanitary Sewer Television Inspection and					
SS-6	Medium/Heavy Cleaning	LF	500	\$6.25	\$3,125.00	\$ 6.51
	21" Sanitary Sewer Television Inspection and					
SS-7	Medium/Heavy Cleaning	LF	1,000	\$6.25	\$6,250.00	\$ 6.51
	24" Sanitary Sewer Television Inspection and					
SS-8	Medium/Heavy Cleaning	LF	500	\$7.25	\$3,625.00	\$ 7.55
	27" Sanitary Sewer Television Inspection and					
SS-9	Medium/Heavy Cleaning	LF	1,500	\$7.50	\$11,250.00	\$ 7.82
	30" Sanitary Sewer Television Inspection and					
SS-10	Medium/Heavy Cleaning	LF	2,000	\$12.50	\$25,000.00	\$ 13.03
	33" Sanitary Sewer Television Inspection and					
SS-11	Medium/Heavy Cleaning	LF	250	\$17.50	\$4,375.00	\$ 18.24
	36" Sanitary Sewer Television Inspection and					
SS-12	Medium/Heavy Cleaning	LF	1,500	\$20.00	\$30,000.00	\$ 20.84
	42" Sanitary Sewer Television Inspection and					
SS-13	Medium/Heavy Cleaning	LF	1,500	\$22.50	\$33,750.00	\$ 23.45
	48" Sanitary Sewer Television Inspection and					
SS-14	Medium/Heavy Cleaning	LF	3,000	\$23.00	\$69,000.00	\$ 23.97
	54" Sanitary Sewer Television Inspection and					
SS-15	Medium/Heavy Cleaning	LF	3,000	\$25.00	\$75,000.00	\$ 26.05
	60" Sanitary Sewer Television Inspection and					
SS-16	Medium/Heavy Cleaning	LF	1,000	\$36.00	\$36,000.00	\$ 37.51
~	72" Sanitary Sewer Television Inspection and					
SS-17	Medium/Heavy Cleaning	LF	1,000	\$38.25	\$38,250.00	\$ 39.86
SS-18	8" CIPP Sanitary Sewer Rehab.	LF	50,000	\$23.25	\$1,162,500.00	\$ 24.60
SS-19	10" CIPP Sanitary Sewer Rehab.	LF	5,000	\$24.98	\$124,900.00	\$ 27.10
SS-20	12" CIPP Sanitary Sewer Rehab.	LF	3,000	\$28.90	\$86,700.00	\$ 32.00
SS-21	15" CIPP Sanitary Sewer Rehab.	LF	2,000	\$38.02	\$76,040.00	\$ 42.80

Arlington County, VA Rehab. Using CIPP

March 6, 2018 @ 12:00 PM

				TOTAL:	\$6,239,270.00		
SS-47	Area)	EA	5	\$1,000.00	\$5,000.00	\$	1,042.00
	Install/Removal/Asphalt Restoration (Asphalt						
22 10	Bypass Connection to Discharge Manhole -	/		\$300.00	Ψ2,330.00	Ψ	221.00
SS-46	Install/Removal/Restoration (Grass Area)	EA	5	\$500.00	\$2,500.00	\$	521.00
SS-43	Bypass Connection to Discharge Manhole -	EA	1,000	\$150.00	\$150,000.00	Ф	130.30
SS-44 SS-45	Re-Establish Connection Laterals		5	\$293.00	\$1,465.00	\$ \$	305.31 156.30
SS-44	18" Bypass HDPE Pipe Discharge (Above 500 L.F / Above 10 MGD)	LF	5	\$202.00	¢1 //EF 00	•	205.21
SS-43	500 L.F / Above 10 MGD)	LF	5	\$272.00	\$1,360.00	\$	283.42
GG 43	16" Bypass HDPE Pipe Discharge (Above	LE	_	4072.00	44.000.00	Ф	202.42
SS-42	500 L.F / Above 10 MGD)	LF	5	\$220.00	\$1,100.00	\$	229.24
	12" Bypass HDPE Pipe Discharge (Above						
SS-41	500 L.F / Above 10 MGD)	LF	5	\$198.00	\$990.00	\$	206.32
	10" Bypass HDPE Pipe Discharge (Above						
SS-40	L.F / Above 10 MGD)	LF	5	\$155.00	\$775.00	\$	161.51
	8" Bypass HDPE Pipe Discharge (Above 500				· · ·		
SS-39	Bypass Pumping 50.1 - UP MGD	DAY	20	\$6,480.00	\$129,600.00	\$	6,752.16
SS-38	Bypass Pumping 30.1 - 50.0 MGD	DAY	20	\$5,040.00	\$100,800.00	\$	5,251.68
SS-37	Bypass Pumping 20.1 - 30.0 MGD	DAY	20	\$3,240.00	\$64,800.00	\$	3,376.08
SS-36	Bypass Pumping 10.1 - 20.0 MGD	DAY	15	\$3,780.00	\$56,700.00	\$	3,938.76
SS-35	Bypass Pumping 5.10 - 10.0 MGD	DAY	15	\$2,700.00	\$40,500.00	\$	2,813.40
GG 25	Dymoga Dymning 5 10 10 0 MCD	DAV	15	¢2.700.00	¢40 F00 00	C	2 012 40
SS-34	72" CIPP Sanitary Sewer Rehab.	LF	1,000	\$487.00	\$487,000.00	\$	570.90
SS-33	60" CIPP Sanitary Sewer Rehab.	LF	1,000	\$342.20	\$342,200.00	\$	408.90
SS-32	54" CIPP Sanitary Sewer Rehab.	LF	3,000	\$300.20	\$900,600.00	\$	357.40
SS-31	48" CIPP Sanitary Sewer Rehab.	LF	3,000	\$253.31	\$759,930.00	\$	293.90
SS-30	42" CIPP Sanitary Sewer Rehab.	LF	1,500	\$166.95	\$250,425.00	\$	202.50
SS-29	36" CIPP Sanitary Sewer Rehab.	LF	1,500	\$122.70	\$184,050.00	\$	149.40
SS-28	33" CIPP Sanitary Sewer Rehab.	LF	1,000	\$113.40	\$113,400.00	\$	136.10
SS-27	30" CIPP Sanitary Sewer Rehab.	LF	2,000	\$98.39	\$196,780.00	\$	117.40
SS-26	27" CIPP Sanitary Sewer Rehab.	LF	1,500	\$86.31	\$129,465.00	\$	100.60
SS-25	24" CIPP Sanitary Sewer Rehab.	LF	2,000	\$73.44	\$146,880.00	\$	84.90
SS-24	21" CIPP Sanitary Sewer Rehab.	LF	1,000	\$62.64	\$62,640.00	\$	70.40
SS-23	20" CIPP Sanitary Sewer Rehab.	LF	1,000	\$61.02	\$61,020.00	\$	68.80
SS-22	18" CIPP Sanitary Sewer Rehab.	LF	2,000	\$55.95	\$111,900.00	\$	61.70

\$6,239,270.00